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Spring 2012 Math 151

Week in Review # 5
sections: 3.5, 3.6, 3.7
courtesy: Joe Kahlig

. fl(x) = —242(4 — 322)3
2
;o secty/x
f(x) =22v223 + 1+ _
' V223 +1
. f'(t) = 6sin?(2t — 1) cos(2t — 1)
. f'(x) = 2z sec(5 — 4zt) — 1625 sec(5 — 4x?) tan(5 — 4a?)
Iy 3 +5 3* 322 (2t + 7) — 423 (23 + 5)
A T (% + 7)2
2.2
W (x) = 37
(23 +5)Vz3 +5
oy =8x(z? +1)3(6 — 22)2 — 6(x2 + 1)*(6 — 27)?
.y — 160 = —80(z — 2)
H'(0) = —5
J(/3) = -2/5
K'(1) = 702
o dy  4x® — 8xy?
Find &4 = 2%~ %Y
ind dr  8x%y — 3y?
., dy —x
Find &4 = —%
ind T ”
_ 9 i (a2
Find dr wFos(y) 2‘y sin(y*)
dy sin(y) — 2sin(2x)
. dx  3y? — 8wy
Find &% = 24— °%Y
W T g se
y—8=—4(x—1)

-2 9 >
<\/85’\/85
vector equation: Lgan(t) = (12 + 14¢, 3 + 4t)
parametric equation: x(t) = 12 4 14¢, y(t) = 3 + 4t

6 = arccos (g) = 53.13°

(a) v(3) =< 5,24 > and speed = 24.515 m/s
(b) 36.3456 m /s



